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senflesfl gnfleSlwed / COMPUTER SCIENCE
(WD wHmib @phidle el / Tamil & English Version )

sre =jarey : 3.00 wenfl Crrb ] [ Qwrgg wHubuemser : 70
Time Allowed : 3.00 Hours ] [ Maximum Marks : 70

Siflejemrset : (1) Aomearss efamssenod #flurs LHard o dersr eratusemar sUTTéss
Caretarayb. FsLSedd GampuimLiden, oimns sarsraniiiumemiLib
2 L aiqwings CgiflelgEsa.

(2 Beod bz smUY eowlomer WLILEGCL gUSDHED,
2 GarngGaugnEh vwuaTuBss Cauam®b. ULESHE uamrashs
Cluendled LweTU(HEFeLb.

Instructions : (1)  Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@&S - I / PART - I

GOllY : (i) Slmensg amssErsEn edenlweallssaib. : 15x1=15
(ii) Gar@ésuuc@erer wrHy elorsaisd Wsab gpuymLw eNeLamus
G055 GOUILOLar elewWeamanyb Csrsg opsa.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. demeuipd arhs @, o Cuflw @hlapenn sl cuenumEsILL(Herengy 7

(=) mevamflrdasa (e),) Qawipan m)
g o o , .
(@) Cartiyser (rr) Qum@daser

Which of the following is a unit of code that is often defined within a greater
structure ?

{a) Subroutines (b)  Function

{c) Files (d)  Modules

2. deaamb ehs Qewmamm SiHeubrdsd ey eumsamu e (heuemwssng ?

(<) Constructors (=2},) Destructors

(8) Recursive (rF) Nested

Which of the following functions build the abstract data type ?
(a) Constructors (b) Destructors

(c) Recursive (d) Nested

3. &ps auerbweaeame BLULY QFwupaamee a@mrunssiiu(h wrblsomers GH&@GL ?

(<=4) 2-drarend euerlwsene (=) ppserredw euenrGuerene
(@) Qsred cuamrbudeame (FF) Qewpaam cuenrGlweene
Which scope refers to variables defined in current function ?

(a) Local Scope (b) Global Scope

(c) Module Scope (d) Function Scope

4. Yeraumb ohs sreld Gerwreard @f yHw eugsrear Hlrme o (Hheurssu
vwerubhdma ?

(1) Ctrl + C (<) Ctrl + F (@) Ctrl + B (rF) Ctrl+ N
Which of the following shortcut is used to create new Python Program ?
(a) Ctrl + C (b) Ctrl + F (c) Ctrl +B (d Ctrl + N

5. &N eamsE Cupul L 2 plilsmer gpap afluller &SHID.

(<21) stemglyerefl (;) (<) Lmaoi ($)
(@) smbudrafl () () apdampuaral (2)
is used to print more than one item on a single line.
(a) Semicolon (;) (b) Dollar ($)
(c) Comma (,) (d) Colon ()
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(<o) do..while («®,) while (@) for (rr) if..elif
Which is the most Comfortable loop ?
(a) do..while (b) while (¢) for (d) if..elif

Qereumid o Aptiys Qered Qewpamm AsTEHow Csm ki ameusdlmgl ?

(1) define (<) for (@) finally () def
Which of the following keyword is used to begin the function block ?
(a) define (b) for (c) finally (d) def

Stride eT@IMTE) ETEIE ?

(=) slide Qswpur’iger SPRLH LEHILTGLD.

(<) slice QewPUTLG6T PSED SAeTL(HEUTGLD

(@) slice Qswpurigern @reRTLTEUS ! SH6TLHEUTGLD
(/) slice QeWPHUTLIGET PPETMTEUG) <SH6TLI([HEUMGLD
What is Stride ?

(a) index value of slide operation

(b) first argument of slice operation

(c) second argument of slice operation
(d) third argument of slice operation

ey evussTan GMperpuder eflenL ereter ?

S = [ x ** 2 for x in range (5) ]

print (S)
(=1) [0, 1, 2, 4, 5] (=) [0, 1, 4,9, 16]
(@) [0, 1, 4,9, 16, 25] (r) [1, 4,9, 16, 25]

What will be the result of the following Python code ?
S = | x ** 2 for x in range (5) ]

print (S)
(a) [0, 1, 2,4, 5] (b) [0, 1, 4,9, 16]
(c) [0, 1,4,29, 16, 25] (d) 11, 4,9, 16, 25]

QagEp 2-mluser g Qewp@dluder epan AemstiLGdng ?

(21) & (<) (@) +# () %
Class members are accessed through which operator ?
(a) & (b) . (c) # d) %

[ Sliys / Turn over
GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377


user
Typewriter
XII - JULY 2022

user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


XIl - JULY 2022

6372 4

11.

12,

13.

14.

15.

OH DL QIO TS

[ 1) A R AT 8 s x -
() cuflens (<f,) LIGHTL|dhdm MIsET

(&) e payser (/) eopeminiiyy
A table i1s known as :

(a) Tuple (b)  Attribute
{¢) Relation (d) Entity

SLLaanow bEs vwuau®ds Geudrg sULmer :

(<) DROP (<) DELETE (@) DELETE ALL (r) ALTER TABLE
The command to delete a table is :
(a) DROP (b) DELETE () DELETEALL (d) ALTER TABLE

e mautuLd deg Quiighae Gariy Gurarny 2y ders CaruLsmen
eswrer Uateun ahs Wenewwrars LweL(Hng ?

(<) 207 Hevew (=) Qoo Hleova

(@) xis Hlevew () CSV flenew

Which of the following mode is used when dealing with non-text files like image
or exe files ?

(a) Text mode (b) Binary mode
{c) =xIs mode (d) CSV mode

sypmseer erpg wrSilwurs WNGeEwaurpg Yepuleanm emwpgre, getopt ()
Geupm erflenws HUd Sigylin ?

(=21) argv wmrr (<) opt oml

(@) args (rF) ifile

getopt () will return an empty array if there is no error in splitting strings to :
(a) argv variable (b) opt variable

(c) args variable (d) ifile variable

Ths QFwpsag CaipbshssiiulL yaosdear Quilw Loé,]uemug HmQ
DAgLLD ?

(1) MAX () (<24) LARGE () (&) HIGH () (FF) MAXIMUM ()
The function that returns the largest value of the selected column is :
(a) MAX () (b) LARGE () (c) HIGH () (d) MAXIMUM ()
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Lu@S - 11 / PART - II

GOy : aCxend opn NamesErse ol wealssan. olearr aar 24 -6
sLLmuons efewefldsa)i. 6x2=12

Note : Answer any six questions. Q.No. 24 is compulsory.

16. &dlsar LML QewsLitsd - Caumub&sis.

Differentiate constructor and selector.

17. Namespaces - §flpy @HUy eueys.

Write a short note on Namespaces.

18. loop -@ range () QFwmnsmm - GHLIY cuers.

Write note on range () in loop.

19. wrhliflen euerQuedenad erammed eTean ? SiFa cuMSHMeTs GO HS.

What is meant by scope of variables ? Mention its types.

20. enuggrafley set erammmed eresenm ?

What is set in Python ?

21. gre| ger Gararmw SiowldnE o TOig5sT_ Hamer sms.

Mention few examples of Database Management Systém.

22. Ggrguurer wppd eufl@wmfl wrpileaw CoupLBéss.

Differentiate compiler and interpreter.

23. gresger L cuamanudadl(mhHg measg) mtﬂm&&mmqm Qumieughsrer euflaperm
eTgl ?

Which method is used to fetch all rows from the database table ?
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24. Qenaummibd enuggnen @bapenmuen Qeuefluity wirgy ?

Strl = “School”

print (str1*3)

What will be the output of the following code ?
Strl = “School”

print (str1*3)

U@ - 111 / PART - III

GPloY : aCaaud ouni eméss@nss efoLwaissayb. efam eram 33-&@ sL_LMULD
el wefldsayb. 6x3=18

Note : Answer any six questions. Question No. 33 is compulsory.

25. ‘while’ bL&Hen Qurgieugeud wrg ?
Write the syntax of ‘while’ loop.

26. euggrailgidrer wwsgerrel Apliys QsrogiEsTar SigliuemL A wpeanaaer
TPFS.

Write the basic rules for global keyword in python.

27. Epésramibd smphle samblow, QeupEm, cumrumpu@ea Quuwi c%é\u_nmg)mg)
SELITETLD HTeHTs.

welcome.display()

Identify the module, operator, definition name for the following :

welcome.display()

28. fetchone () wHmib fetchmany () CaumuBsss.

Mention the difference between fetchone () and fetchmany ( ).

29. gpsaiGes 2 dren Carube wrhmd Gelub eugsren Hrame TIPTS5

Write a python program to modify an existing file.
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@M yHw Hagms Garliugen apeld Wrenreuir oL euenant HLLenwlieu wrbl

SDWES Q@ SQL sapenm GT(LPGHIS.

Write a SQL statement to modify the student table structure by adding a new

field.

PUSSTailQIeTar open () Qewpamperpls upl GHLY eriss. Cogib g Greamh

aulflpepsaiiar Caumur@sdr wrenes ?

Write a note on open () function of Python. What are the differences between its

two methods ?

rey STLELLMSSISDH cuamsamw UL g (Hs.

List the general types of data visualization.

Gemeumd Hlyeden Qeuaflui(® erees ?
class Greeting :
def _ init _ (self, name) :
self._ name = name
def display (self) :
print (“Good Morning”, self._ name)
obj = Greeting (“Bindu Madhavan”)
obj.display ()
What is the output of the following program ?
class Greeting :
def _ init _ (self, name) :
self._ name = name
def display (self) :
print (“Good Morning”, self._ name)
obj = Greeting (“Bindu Madhavan”)

obj.display ()
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u@d - IV / PART - IV

GOy : Siemengg) ellannda@pd@n e wellésea. 5x5=25

Note :

34.

35.

36.

37.

38.

Answer all the Questions.

(=) auflevsapenp Gl panpenws efleurd)daeLb.

36060
(=) Qewpsaflen cuemasmer rBSSHIEST.HLen 6leufésayb.
(a) Discuss about linear search algorithm.

OR
(b) Explain the different types of function with an example.

(=) Qenaneoran tuple erempmed eranen ? THEGSHT_HLen elend@s.

SV60g
(<) SQLite upl elifleurs erpsayd. wiFmer LWETLESSD LigHeasamer T(PFIS.
(a) What is nested tuple ? Explain with an example.

OR
(b) Explain about SQLite and the steps to be used.

(=t) for’ wL&ms LPM fleurs efenLwelldsab.

S|60605)
() @uggraied LWETLESSILEL LoumaLITar AsLhGHsmer edarsEs.
(a) Write a detail note on ‘for’ loop.

OR
(b) Explain the different types of operators used in Python.

(1) vaGamy aumswrar sLEUUTHEETD SiFer Qewdur@aamenyb TGS,
S{6060F)
(<5,) DBMS -e uamdwdysamar allardss.

(a) Write the different types of constraints and their functions ?
OR
(b) Explain the characteristics of DBMS.

(1) euggrailer e Carlemu Lgliugparer LOGuN P wapsamer T(PGIS.
S|6V60 G|
(<) range () -an Gpréaid eranen ? TR&gIEET_HLan eflord s,
(a) Write the different methods to read a file in Python.
OR
(b) What is the purpose of range () ? Explain with an example.
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